## Write the expression into exponents

2	Х	2	Х	2	Х	2	=		
3	Х	3	Х	3	=				
4	Х	4	=						
5	Х	5	Х	5	=				
7	Х	7	Х	7	Х	7	x 7	x 7	=
6	Х	6	Х	6	х	6	=		
8	Х	8	Х	8	Х	8	=		
9	Х	9	Х	9	=				
4	Х	4	Х	4	Х	4	=		
2	Х	2	Х	2	=				

## Write the expression into exponents

2	x 2	x 2 x 2 = 2 4	
3	х З	x 3 = 3 <sup>3</sup>	
4	x 4	= 4 <sup>2</sup>	
5	x 5	x 5 = 5 <sup>3</sup>	
7	x 7	x 7 x 7 x 7 x 7	= <sub>7</sub> 6
6	x 6	$x 6 x 6 = 6^4$	
8	x 8	x 8 x 8 = 8 4	
9	x 9	$x 9 = 9^{3}$	
4	x 4	$x 4 x 4 = 4^{4}$	
2	x 2	x 2 = 2 <sup>3</sup>	

sociallover.net